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Homework 6rid Summer 1

Expected

Exceeding Expected

Greater Depth

These need to be carried out every week

Maths

English

Select 2 projects from the list below to

Week 1 Reading at LEAST 3 times Adding and subtracting do over the half term
Complete Spelling Sheet decimals
Complete times table sheets
Week 2 Reading at LEAST 3 times Subordinate clauses e Create your own Greek god, for
Complete Spelling Sheet example: 3D paper mache, a
Complete times table sheets drawing with labels, clay
Week 3 Reading at LEAST 3 times Adding and subtracting modelling
Complete S.pelling Sheet fractions with different
Complete times table sheets denominators e Write an interview with a Greek
Week 4 Reading at LEA§T 3 times Active and passive voice god, for example: Zeus, Hermes,
Complete S.pelllng Sheet Hercules. Medusa
Complete times table sheets ’
Week 5 Reading at LEAST 3 times Multi-step problem solving

Complete Spelling Sheet
Complete times table sheets

Homework will be given out every Friday. Homework will be collected every Wednesday.

There will be homework set on Education city weekly.

You can also access the links which are on our school website, class pages. Such as White rose maths, cgp+

e  C(Create a parachute to show air
resistance.

e Design a new space rocket by
researching air resistance.




ise: Look, say, cover, write, check

Check

Write

Check

Wr.ite

Check

x

example

blacken

hrighten

flatten

lengthen

mistaken

Astraighten

Ashorten

thicken

tighten

toughen

Now .apply 8 .of those words in a sentence.
.

2.

3.




Expected - Week |

2x6=_ Mx5=__ 10x9=__ GxG=_ 9x8=_
Fx2= 4x1=__ 9x10=__ 4x3=_ MxB=_
4x9=_ 5x3= Exd= 2x2=_ 4x10=_
BxB= 4x7=_ Mx2=__ 6x10=__ 10x3=__
Gx3= 2x12=__ 8x5=_ Mx12=__ Bx8=_
12x8=__ 4x3=__ 4x11=__ 10x12=__ 2x3=____
12x12=_ GxE=__ Sxd= Ix2=_ ExT=_
5x12=_  12x5=__ 3xT7=__ 5x10=__ 11x9=_
0x4=__ 8x2=__ TxE=_ gx2= Txd=_
M=x10=__ 1x2=__ 12x9=__ Bx11=__ 12x8=_
8x11=__ 8x10=_  B8x4=_ Ex3= ExT=_
2x8=_ 3x12=_ 3x8=_ gx1=_ Wx12=__
Tx2=_ T=12=__ 10x10=___ 10x8=__  3x4=_
Tx4= 8x2=_ 6x12=_ 9x2=_ 2x10=_
0x5=__ 2x12=__ A0x6=____ 3x1=__ 12x4=_

Exb= 12=10= 12=2= bx=3= 2x4=



Exceeding expected- Week |

Adding and Subtracting Decimals

Each pair of blocks totals the block above them. Use addition and subtraction to fill in the
missing decimals and complete the steps.
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ise: Look, say, cover, write, check

Check | Write Check | Write

x example v example

alth.ough

dough

doughanut

throuwgh

LOMGh

trough

rough

tough

enough

Now apply 7 of the words in o sentence.

[

2.




121+11=__
4=11=__
24=4=_
iT=7=
JD=5=
18=2=
90=10=__
48=12=__

72=8=

15=2=
A0 = 5=
B0 = 10 =

10+5=

14+7=
80+ 8=

24+ 8=

B4 =12 =
49 =7 =

24+ 3=

fr+11=___
2M1=7T=__
2-11=___
B+d4=__
19+3=_____
20=5=__

Id+11=

22+2=

28-4=__
s0+5=__
20-10=___
6+-8=_
45+5=__
120=10=____
16-8=__

f2+9=

f2=12=__
10=10=__
120=+12=__
18=3=_
21=3=__
1M0=2=__
132+12=__

15+ 5=

Jg=3=

12=4=

64 8=

A0 =B =

90 = 9=

63+ 7=

72+6=



Exceeding expected- Week 2

Creating Sentences Using Subordinate Clauses

Can you make a complete sentence by writing a subordinate clause to follow the main clause? The first one has been done for you.

Main Clause Subordinate Clause

We will go to the fair if it stops raining.

Put on your coat

I'd love a slice of cake

I'm going into town

You should sit down

Put a tick next to it

It should be fine




Expected - Week 3 10.05.23 Spelling practise: Look, say, cover, write, check

Loock

Sauy

Coner

Write

Check

Write

Check

Write

Check

example

exampel

x

example

plouwgh

hough

Adrought

brought

bought

WIroug.ht

thought

oug.ht

horough

thorouwgh

Now .apply 7 of those w.ords in a sentence.

l.

2.

3.




2x2=_
12x4=__
Tx10=__
Bx5=
8x10=__
10x8=
11x3=
12x4=
IxT=_
1x4=_
Tx6=_
9x5=
Ix6=_
9x4=_
4x6=_
5x8=

0x10=____
2x9=_
4x7=__
0x9=__
Ix3=
3x2=_
9xB=
6x10=_

4x2=_
Gx5=
Tx11=__
Gx5=
Gx3=
5x3=
Mx12=__
0x3=_
3x12=_
GxB=
T=x3=
Gx11=__

12=x11=
1x8=
9x10=

2x5=
Bx12=_
0x12=____
9x5=
1x6=_
1x5=_
1=10=__
Ix10=_
Bx11=_
4x9=
0x12=__
Ex12=_

8x10=
10=7=
bx10=

2x7=

Tx2=_
4x2=_
9x7=_
12x10=____
1x12=

HE=9=

Bx6=
3x1=
2x5=

12x7=_
4x5=

12x9=_
6x9=

Ix10=_
gx11=__
0x6=__



Expected - Week 3
Add the fractions by changing one of the denominators so that they are the same.

Then, write the answer in its simplest form. For each calculation, give a pair of fractions
with different denominators that are multiples of the same number.

1,2 1 1.1 _ 2 . . 1
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Subtract the following fractions by changing one of the denominators so that they are
the same. Then, write the answer in its simplest form.
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ise: Look, say, conver, write, check

Check

Write

Check

Write

Check

X

example

v

example

yesterdaiy

Ltom.orrow

later

immediately

earlier

exentually

recently

,p,r.eML,ou/s,L,g

Linally

lately

Now .apply 8 .of the words in a sentence.

l.

2.

3.




120=10=

B4=12=_
12-12=__
6=8=_
81=9=_
/=T=
P=3=_
M7=
P=5=_
45-9=
12:3=_
%=12=_
4=2=_
24-8=_
48-8=_
2:2=

T=T7=

48+6=
132=11=
48 -4 =

84+7=

42 <6 =

18+6=__
B0+ 10=_
B+12=__
80-8=_
63+9=_
9-7=__
55+ 11=_
10-2=__

50+ 5 =
12+4=

90 - 9 =

2:2=_
18=3=_
20-10=__
PBa11=_

W+4=_
6=
/5=
110=10=__
P+4=
P=10=_
88+8=_
24:2=_

W/=12=_
72:6=_
50+10=_
132=12=
M=11=_
A0+5=_
P-8=_
14+7=_
120=12=

99+ 9=
96+ 8=

64+8=

IG=4=

0-10=__
12:2=_
60<12=
0+2=_
28-7=_
6/-9=
2:-11=_
90=+10=_
54-9=_
/6=
56-8=
5:5=
121=11=__
63=7=_
0+10=__
a4=11=__



Verbs can have an active or passive voice. When a verb is active, the subject of the sentence is doing the action. For example:

The cat sat on the mat. Contrast this with the passive voice of the verb:

The mat was sat on by the cat.

Verb Active Passive

The school arranged a visit. J

A visit was arranged by the school.

The dog buried the bone.

The bone was buried by the dog.

The man painted the wall.

The wall was painted by the man.

The ball was thrown at the window by
the naughty girl.

The naughty girl threw the ball at the
window.

You must not run across the road.

You could get run over!




ise: Look, say, cowver, write, check

Look Cownver | Write

Check | Write Check

Write

Check

exampel

x example v

nearhy

eNeIA Where

nowhere

inside

downstairs

outside

u,p/s,t,aj.,rzs

underneath

behind

AOomewhere

Now mrite 6 of the words in a sentence.

[

2.

3.




bxf§=

B=5=
bxb6=
f=2=

1=11=

bxb=

1=6=
f=8=
3xb=

8x10=__
1x7=__
9x6=_
GxT=_
12x12=__
T=x2=__
7x9=

3x11=_
3x5=_
5x3=
Mx12=__
4x11=_
Tx12=__
Gx12=_
1x8=_

9x 8=
bx{=

4x2=

9x11=__
Bx1=_
0x1=____
0x12=____
9x5=_

4x6=_
12x8=_
9x10=__
0x11=____
Mx6=_
Ex5=
4x9=
Ix3=
9x11=__
gx12=_
Exf=_
0%x2=_
4x8=
0x7=__
Gx4=_
Mx10=___

12x5=__
BxT=_
Mx3=_
6x10=__
1x10=___
1x9=_
Erxd=
Ex12=_
0x7=___
A4xT=__

Gx7=
Txd=
IxT=
fx3=

4x=12=
2x=10=

10%x8=__
10x3=__
12x10=___
Ix9=_
Mx3=_
6x1=_
Tx11=__
9x3=_

gx 4=
Ix6=

TxT=

12%x2=
8x9=_

0x6=__
gx10=__
12x4=_



Exceeding expected - week 5
Complete these multi-step problems by selecting the correct operations to complete the

calculations.

1)  Six pencils cost £1.92. Three pencils and one rubber cost £1.21.
What is the cost of one rubber?

2) A stack of 40 identical toy boxes is 1000cm tall. Markus takes three boxes off the top of
the pile. How tall is the stack now?

3)  Mrs Tunnicliffe is making jam to sell at the county fair. Blackberries cost £5.50 per kqg.

Sugar costs 65p per kg. 15 glass jars costs £5.85. She uses 16kg of blackberries and
10kg of sugar to make 15 jars of jam. Calculate the total cost to make 15 jars of jam.

4) A school orders 12 boxes of dice. Each box contains six bags of dice. Each bag contains
35 dice. How many dice do the school order in total?




